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Directions (1-5): Study the following information carefully and answer the questions given below:

Certain numbers of persons sit in a row face north direction. E sits 2nd to the right of F. Two persons sit between G and E. D sits
immediate right of G. The numbers of persons sit to the left of D is same as to right of C. Four persons sit between D and H who
does not sit near F. C sits 2nd to the left of H. B sits 2nd from the extreme end but not sit near E. No one sits left of F. A sits 2nd to
the left of G.

FRaferfae st #:1 s steaa FIRT ik i R 77w & saedfm

TFAF A At T i g ot s R A AR @ FF S EFFIM A TR M R I8 G EF S § ST =af~r 9
21D, G 1 210 427 81 D F aTE A 95 ATRAT 1 He&AT, CF ITE AT 45 SAHAT T TEAT % T8/ 21 D 37 H, ST F 3 919 T3¢ 37
2, % g 9 =fRF 43§ C, H F 912 37T § g8 &I 9% 937 21 B 3ifow % F 8¢ #079 ¥ 927 § AT E % 919 71 91 81 FF
At SR TS TR F3T Z1 A, G F arff ST T T 92 49T )

Q1. Who sits 3rd to the right of D?
D % T & T19< T I A ST 827
(@) G
(b)E
(c)A
(dc
(e)H

Q2. How many persons sit in the row?
if<F & fora safxe 95 82

(a) 21

(b)17

(c)19

(d) 18

(e) 16

Q3. How many persons sit between C and A?

CRAF fi= fhaq AfRe 45 82
()1
(b) 2
(c)3

(d) 4 A

(e) More than 4 / 4 ¥ STt
BANK
Q4. Four of the following five are alike in a certain way and hence form a M AH AP ACK

group. Which of the following does not belong to that group?

faffaT o § & 9= tw Rt 7% 9 qow § ok @i oF agg T 2 for all Bank & Insurance
Fraforfar & % 7 o 7o & gl T 8 B

(@) E
(b) G
(A
(d) F
(e)D

Selectiomikaicaatiiy
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Q5. What is the position of E with respect to D?
D % |TI& | E FT T 747 87

(a) 31 to the right / a7 ¥ f&=T

(b) 4t to the left/ SIS T =TT

(c) Immediate right / Y% =13

(d) 2nd to the left / TS 3T gAT

(e) None of these / TAH & Fils A5l

Directions (6-10): Study the following questions and answering the questions referring to the word sequence given
below:

et i 1 sreaae R o = Ry T4 areg ST #1 §0 39 g F SaT @l
ROW FIX FOG LAN COW

Q6. If first and second letter of each word is interchanged, then how many meaningful words will be formed?
I AT M52 F TgA X TR TR I UL T AT AT, A Fher srfqut ereg a2

(a) Three/ qt=

(b) Two/ &T

(c) One /U=

(d) Five/ o=

(e) None of these/ T8 | &< Tal

Q7. If each consonant is changed to its previous letter in the alphabetical series and each vowel is changed to its next
letter in the alphabetical series, then how many words contain at least one vowel?

I T ST T TUATAT F@AT | ITF (AG Te< F I3 QAT A X TAF T Tl JUIHTAT AT A Iqh I AL T8
T ST, Y R oTsat § 9 ¥ FH U @ g

(a) None/ &1 &l

(b) One /T=

(c) Two/ ¥

(d) Three/ &=

(e) None of these/ TAH | &< dal

Q8. If words are arranged according to the dictionary order from left to right, which word is second from the right
end?

TS TSRT T AT FF o FATAT AT T AGAT (6 AT ST, AT HIF-9T 763 QT G & gL T T gRIT?

(a) FIX

(b) LAN

(c) FOG

(d) cow

(e) ROW

Q9. If all the letters in each word are arranged according to the alphabetical order from left to right, and then first and
second letter are interchanged in each word then how many meaningful words will be formed?

IS T a5% § T ST&r il AT & GT TUHTAT HF 6 FATHT AT eAd AT ST i T 7T 9158 # Iget i< g ST i Siae
¥ geo gy s, Qv e ariE g a9

(a) Two/ &

(b) One/ T=®

(c) None/ &S &t

(d) More than three/ 19 & s1fers®

(e) None ofthese/%ﬂﬁﬁﬁﬁ%ﬂ'ﬁ
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Q10. If last letter of each given word is changed to its next letter according to alphabetical series, then how many
words contain more than one vowel?

iy R T T4 9151 F SIfAH AT FV FVATAT FH F ATAT SHh WIS ML F T3 7AT 70, A7 Fohaer areait & UF F ATS+F T
gir?

(a) One/ Tx

(b) Two/ T

(c) None/ #Ts gl

(d) More than three/ Tt & 3Tfers

(e) None of these/ TAH & Fls gl

Directions (11-14): In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusions. Give answer

T WA |, FAAT A A aat F fi= qey 90t T g1 7 FAA1 5 918 & Aoy e g1 st AT

Q11.
Statements/ PYT: Q=>S=D2C>F<G=T

Conclusions/ fFepd:

LD=F

IL5>F

(a) If only conclusion I is true/ o3 Faer fAd [ T<T 8

(b) If only conclusion Il is true/ e Faer AeFd 19T &

(c) If either conclusion I or I1 is true/ =T =T a7 fAwhe [ AT 1 91T &

(d) If neither conclusion I nor Il is true/ f< 7 a7 AT [ A T 1 T &
(e) If both conclusion I and II are true/ ot e [ 3% [ AT TT &

Q12.
Statements/ PUYT: W<Y>Z=X>P>]

Conclusions/ fepd:
L]<Z
ILX<W
(a) If only conclusion I is true/ T Faer fATHT [ H &
(b) If only conclusion Il is true/ < Faer FoFd [ 9T &
(c) If either conclusion I or I is true/ o< AT a7 AT [AT I FeT &
(d) If neither conclusion I nor Il is true/ o< 7 a7 AFT [ AT T &
(e) If both conclusion I and Il are true/ 7% Aoy [ =¥ [ T4 T &

Q13.
Statements/ PYT:5>G=]<N<B>V=0
Conclusions/ fFeFd,

LV<G

ILG=0
(a) If only conclusion I is true/ T Faer At [ HeT 8

(b) If only conclusion II is true/ I3 Faer FAeFd 197 §

(c) If either conclusion I or Il is true/ fx =T a7 AFT [ AT 1 T

(d) If neither conclusion I nor Il is true/ 7% 7 a7 fAFT ISR A ST T B
(e) If both conclusion I and II are true/ 7% fAeFd [ =¥ [ THT &< &
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Q14.
Statements/ PYUYA- W<F<V=X=B=N

Conclusions/ AP,

LE=B

ILX=W

(a) If only conclusion I is true/ o3 Faer AT [ T<T &

(b) If only conclusion Il is true/ T2 Faer FeFd [ 9T &

(c) If either conclusion I or II is true/ T AT a7 AT [ AT I AT &

(d) If neither conclusion I nor Il is true/ < 7 a7 AT [T AT I AT &
(e) If both conclusion I and Il are true/ ot AT [ 3% [1 THT FT &

Directions (15-19): Study the following information carefully and answer the questions given below:

Six boxesi.e, B, Q R, S, T and W are arranged one above the other but not necessarily in the same order. Three boxes are placed
between box R and box S. Box Q is placed just above the box B. More than two boxes are placed below the box R. Box T is placed
two places above the box Q.

e S T saAgEes steaad HNT i = g 77 i & 39 )
TE AT AT B, Q R, S, T 3T W TF F FUL U AR & AThed ST&T Agl 1o 6T FH | i1 TIFT R 3T aiaq S % = ot
TG T g T Q, T(FT B F S UL T AT g1 F1a R % 1= &1 7 Fferes afe T T g aie T, T Q | T £ATH 9T 1T TAT

2l

Q15.Which box is placed just above box S?
I S F 1 FUL HI-AT q1F T@T 14T 87
(a) Box R/ &if# & R

(b) Box T/ It T

(c) Box W/ It W

(d) None of these / A% & #IE 7l

(e) Box B/ 1= B

Q16.How many boxes are placed between box W and box T?
Tt W i s T % = ot s @@ g &7

(a) One/ U=

(b) Two/ &1

(c) Three/ E1=

(d) Four/ =X

(e) None/ FTE &l

Q17.Which box is placed at the bottommost position?
RI-TT T G = S 92 @1 47 82

(a) Box S/ =9 S

(b) Box R/ &9 R

(c) Box T/ & T

(d) Box W/ IR W

(e) Box B/ 91 B

Q18.How many boxes are placed below box Q?
e Q ¥ o fraet Tt @ T 8?2

(a) Two/ &

(b) Three/ &=

(c) One/ U=

(d) Four/ =T

(e) More than four/ =¥ & sfer®
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Q109. If all the boxes are arranged in alphabetical order from top to bottom then how many boxes remain unchanged?
7f a+ft gt T89S T4 = 7F quigrA A sgafeaa R s av fraw ate sRafta |

(a) One/ T=

(b) Two/ &

(c) Three/ &=

(d) Four/ =X

(e) None/ &I &l

Directions (20-21): Study the following information carefully to answer the given questions:

C is daughter-in-law of D who has only two children. A is grandmother of F who is niece of B. B is sister of E and child of D. G is
grandchild of D who is married. No single parent lives in the family.

g 17 i o IR 3 F oy Refafa s &t samgae steaae fifvra

D, Sk Fae a1 @y &, C It Taag 21 F, ST B it WA S(/ATSH €, A 39! T&1/AT1 g1 B, E i &7 ¢ ¥ D %1 §a g1 D, ST
fBrarfea &, G 3oe dewrges 8 | ufare & #rg ot vwer stferamass 78t wgar 2

Q20. How G is related to C?

G, C ¥ g T waifa 82

(a) Son/ 9=

(b) Daughter/ Tt

(c) Nephew/ SefistT/i=IT

(d) Niece/ sTefistt/«isty

(e) Either son or daughter/ =T T T 3T T

Q21. Four of the following five are alike in a certain way and thus form a group. Who among the following doesn’t
belong to the group?

et = § 9 9 o A als 3 a0 8 o 50 TR UF 99g 991 81 R 8 & #19 a9g & |@<$iba T8 87

(@A

(b)B

(c)D

(dF

(e)C

Q22. If we form a four-letter meaningful word by using the second, third, fourth and eleventh letter from the left end
of the word ‘REPRODUCTION’, then which of the following will be the fourth letter of the meaningful word thus
formed. If more than one meaningful word is formed mark Z as your answer. If no meaningful word is formed, mark X
as your answer?

7f& g7 'REPRODUCTION' 5% & ITT FIX & @Y, 16, 9 i TTEd STeT< 7 ITIRT Fikeh AT ST ATAT Toh qTA o A58 a1
g, a1 Rl § & F9-97 30 76K a9 ariF 058 HT F™T STE gRIT? I TF A TTEF qreieh 958 a7 § T S SU< 6 €T | Z
sifaha FfST 7f FE el 58 TE AT &, AV ATA IAF €7 | X {fha Hiforq

(@) R

(b)E

(c)O

(d) X

(e)Z

Directions (23-27): Study the following information carefully to answer the given questions:

Seven persons are designated at seven different designations- Senior executive, Executive, SO, HR, Product head, ST and Admin
in a company. The designations are given in decreasing order such as the Senior executive is the senior most designation and
Admin is the junior most designation.

More than two persons are senior to R. Only two persons are designated between R and V. V is designated as senior to SO. Q is
designated two persons senior to S but junior to R. As many persons designated between Q and S as between Q and U. P is
seniorto T.
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T T i o ST 3 F g R s &t sagae steaae fifera

U FOAT § ATT ARAT HT AT AT-31T TaT - HAIT TSy (ed, Uistgied, SO, HR, eae 8T, ST #i¥ u=fae v uaifha
TAT g1 U% HEd F § QU 0 g S HiiAww uSigfea g9 aiy ug g eiY usie g99 #45 ug )

R a1 & srfers =af<p afg 81 R 3T V& = Faer a1 =afxr aaifed €1 VT SO & afvg o =7 # qaifha 3 am 81 Q 7 S & a1 =1tew
FRg A RTFRTF =T § meifFa B g QiR sF fa s T ar wiffa g fav QiR UF i S weira EI R TH
g gl

Q23. How many persons are designated between V and Q?
V 3T Q ¥ &= foaer =afr wsifeha 2

(a) Three/ T

(b) Four/ =X

(c) Five/ o=

(d) One/T=

(e) Two/ &1

Q24. Who among the following is designated as Executive?
fefafae & & R geitegfea & €0 # geifda T &2
(@R

(b) P

(Vv

(dQ

(e)T

Q25. As many persons are senior to U as juniorto ___.
SfarafruaafRg s s __a sl sd

()R

(b)S

(0)Q

(dT

(e)P

Q26. If V is related to U, in the similar way P is related to R then who among the following is related to S?
7fT V, U @ §&fad g, SHY ¥ P, R & H&faq g, qF Refoferd § & i S§ d&fad g?

(@) P

(b)T

(c)U

(dQ

(e)V

Q27. Which among the following statements is/are true?
Ruffem & 9 f-ava 799 97 /87

I. Vis the senior most person among all

VHEA ¥ qag AR ARE §

I1. More than three persons are junior to R

A & AfIF ARF REFATE

[1I. 0Odd number of persons designated between P and T
P 3% T % &= TaifTeha AT<hal 1 d&ar fauwd g

(a) Only I11/ &< 111

(b) Only II/ F=a=T 11

(c) Both I and II/ I 3% 11 31T

(d) AL, IT and 1T/ &7 1, 11 3 111

(e) Both I and I1I/ I i< 111 2141
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Q28. In the word ‘REPLACED’, how many pairs of the letters have the same number of letters between them (both forward
and backward direction) in the word as in the alphabetical series?

15T ‘REPLACED’ # ST&r<i % U# faraet T g oW & o= stel Y €ear Saet & § (3IRT ofi iy <=t et &) St aviemar
st 8t 27

(a) Four/ =X

(b) Two/ &¥

(c) One/ T+

(d) Three/ =

(e) More than four/ =TT & faT

Directions (29-30): In the question below some statements are given followed by the conclusions. You have to take the
given statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

f= g 17 7 § F7 F SR I8 a1 AR R g €)1 e R T FET A S WEATE, O g1 9 aTa: J0d asat | e
T B gil ot et & afey sz o aa fiforg f Ry 1o fAeat # & Fi9-a7 Aewd am J1a Tl w1 T9<EEs $3d g0
R 7T FAT FT ATlHRE T A SIFET FAT

Q29. Statements/ FY:

Only a few fans are fridges/ e % T4 s &

All fridges are cooler/ T+t fSFsT FeT &

Conclusions/ fA=:

I. All fans are fridges/ T 9@ et §

I1. No fans are fridges/ 1< 9@ st A1 &

(a) Either conclusion I or II follows/ 3T T TRt [ AT I SITHTOT FH¥AT &
(b) Only conclusion II follows/ Fae ATt 11 STEIT FAT &

(c) Only conclusion I follows/ Fae TR [ AT HTAT &

(d) Both conclusions I and II follow/ fAe=e [ 3¥ 11 ST ATELT Fd &
(e) Neither conclusion I nor II follows/ 7 AT e [ 3fiT 7 ST 11 STHE F3dT §

Q30. Statements/ HY:

Only flavour is spices/ Fad FaY & TITH &

Some taste is flavour/ T ¢¥e FaT &

Conclusions/ fAty:

I. No taste is spices/ #Ts ¥ TITH A5l &

I1. All flavour can never be taste/ THT Fla¥ HHT 2 T51 @l Tahd

(a) Neither conclusion I nor II follows/ F AT et [ 3 T &1 11 STELT F7AT &
(b) Either conclusion I or II follows/ 3T T fAHt [ AT I SITHL FdT &
(c) Only conclusion I follows/ Fae TRt [ SIFHTOT FTAT &

(d) Both conclusions I and I follow/ et [ 3% 1 SIET T F¥d &
(e) Only conclusion II follows/ & AT 11 ATEIIT FLAT g

Q31. Find the odd one out?
IHHT FAT HiTorg ST 9T g
(a) BDI

(b) QSX

(c) OLQ

(d) RTY

(e) GIN
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Directions (32-36): Study the following information carefully to answer the given questions:

Eight persons sit around a square table such that four of them sit at the corners of the table and face towards the centre where
the remaining four sit at the middle of the side and face away from the centre of the table.

D sits second to the right of H. One person sits between H and A. F sits adjacent to A and sits at the corner of the table. E sits
second to the left of F but doesn’t sit adjacent to A. G sits adjacent to both B and C who doesn’t face F.

T 1y et % SR 3 & g Rwferee s w1 s sreaas fifvm

S SATE U aHE T o AT A ZH THE 95 & T ITH F A1 TS F FF1 92 95 2 ¥ % 0 a7 7@ 0 gu &, Sath av =<
T ST & TET | 9 & 3T 0 % g F A12< 1 AL qG 60 g0 2|

D, H & T3 & oY T 9 937 8| H 37T A % &= U =ik 937 81 F, A ¥ S9a 927 § ¥ 857 % 4 9 527 21 E, F % 978 ¥ 8¢
AT T 92T 8, AT A% STEH Tl 957 81 B 3T C, ST F it 3T q@ A5l (47 g 8, G 37 a1 & e 937 5

Q32. How many persons sit between G and E when counted from the right of G?
G ¥ TME AR & 9 9% G iR EF i fraw =afze 95 82

(a) Five/ ai=

(b) Three/ =

(c) Six/ =g

(d) Four/ =X

(e) One/ T

Q33. Four of the following five are alike in a certain way and thus form a group. Who among the following doesn’t
belong to the group?

Fefafae o= & & 9=t Rt ol & a9 g o 380 TR O 998 s91d 51 Rt & & o9 aqg & 9&508q 78 82

(a) B

(b) F

(c)A

(dc

(e)E

Q34. Which among the following statement is true?

Ffafefea & & f9-ar s g &7

(a) B doesn’t face F/ B T {@ F #T A 751 §

(b) E sits two persons away from A/ E, A & & =< gL 2T &

(c) Three persons sit between C and F/ C 3% F & =ft=r i =af<r a5 &
(d) G and D face the same direction/ G 3T D T# & f9IT 1 ¥ 37@ &
(e) None is true/ T HT 77 71 &

Q35. If all the persons sit in alphabetical order starts from A in clockwise direction, then the position of how many
persons remains unchanged (excluding A)?

7 AR & FLQ g AT ATw FUATAT 77 A SRerorrad Qe | d5q &, v b st f Rafa sRafia @ hi? (A F: Sisa)
(a) Two/ &

(b) One/t=®

(c) None/ #Ts 5t

(d) Three/ &=

(e) More than three/ &= & s7far

Q36. What is the position of A with respect to B?
B ¥ 9TUE & A T T 4T 872

(a) Third to the left/ TS ¥ FET

(b) Third to the right/ aT$ ¥ F&=T

(c) Fifth to the left/ aTE AT qi=rat

(d) Fourth to the right/ aT$ 3T =TT

(e) Immediate left / & a0
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Directions (37-40): Study the following alpha numeric symbol series carefully and answer the questions given below:
Raferie st Tt Sa«r #1 samga® reaa+ Fiforg s A= R T e F S9 |
IMW@Q27%JL&2T*U96#TQ1Z7BL63nY9

Q37. How many symbols are there in the above series which are immediately followed by a consonant and
immediately preceded by a number?

ST st & U Pt el & s £ are U o & o S T w de &7

(a) None / TS &l

(b) One /T=®

(c) Two/ T

(d) Three/ f1=

(e) Four/ =TT

Q38. Which among the following element is 8t to the right of the number which is 4th from the left end in the above
series?

el & & F-a7 o IUAw Eer § a1d G & et dear F 7€ K 8at 82

@T

(b) 6

(U

(d) &

(e)9

Q39. If all the numbers are dropped from the above series, then which among the following will be the 18t element
from the right end?

7fx ST et & a¥t e ger ¥ i, A Refaiea § § e SR & 1891 7@ Hi-ar gRm?

(a) &

(b) @

(agw

(d)J

(e) %

Q40. What is the sum of the numbers which are immediately followed by a symbol?
I GEATSAT T TN AT & STk ik a1 T T 1 St g7

(a) 23

(b) 25

(c) 22

(d) 24

(e) 32

Directions (41-45): What value should come in place of question (?) mark in following number series.

R e gaar & v (7) F & o T 9 e 91 e?

Q41. 24,7,33.25,42.25,42.5,51.5
(a) 34

(b) 31

(c) 32

(d)33

(e) 24.25
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Q42.4,16, 34,58, 88,7

(a) 128
(b) 126
(c) 122
(d) 124
(e) 130

Q43.163,150,134,112,81,?

(a) 42
(b) 36
(c) 38
(d) 34
(e) 32

Q44.6,5,8,21,7,395

(a) 88
(b) 84
(c)81
(d) 80
(e) 78

Q45.11, 28,47,70,7,130

(a) 97
(b)99
(c)101
(d) 93
(e) 95

A

BANK
MAHAPACK

for all Bank & Insurance
Exams

ke
oy
Selection Ka Saathi

Directions (46-50): The table give below shows total number of three different items (Laptops, Mobiles and Cameras)
sold by shopkeeper ‘P’ in three different months (January, February and March). Read the table carefully and answer

the question.

A= & 1€ qiert T ATI-SRT ARl (SHALT, B i 7419) H THAQAL P! ERT ST TS (19 SAAT-S(eATT gl (AT, Hasa
T HA) T oA G&AT ILTAT g1 ATIIHT Al SATATAH T2 T S T H ITL 1910

Months/ Laptops/ Mobiles/ Cameras/
afw | dwe N e
January/ 160 156 128
Seradl
February/ 100 120 124
Ed
March/ 132 144 180
AN

Q46. Total camera sold in January and laptops sold in March together is approximately what percent of total mobile
sold in January and March together.

THATT S R o9 T Fo FALT S ATH | a9 T AT, TG AT R (HATHE 39 T F HIATSAT BT ATHIT b T TTAAT 8 ?

(2) 93%
(b) 92%
(c) 82%
(d) 87%
(e) 81%
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Q47. If total laptops sold by R in February is 40% more than that of P and total mobiles sold by R in same month is
25% more than that of by P, then find total number of laptops and mobiles sold by R in February.

I wEd § R GRS TT FF AT, P Fit TAATH 40% T8 & 3 S A7 § R GRT 9 T FF AT B, P it q@a T H 25%
FAfere &, a7 B § R §T 99 T AU 3% HISTSe i o G4 A1 HIforg|

(a) 210

(b) 290

(c) 240

(d) 320

(e)330

Q48. Find the difference between all three items sold in March and total camera sold in January & February together.
ATH | ST TS G A TEAl T ST S T H (AT o9 T FHU & S < A1 HI

(a) 184

(b) 224

(c) 194

(d) 214

(e) 204

Q49. Find the ratio of total mobile sold in March to total mobile sold in February and total laptops sold in January
together.

ATH | S T T HIATSAL AT THATT B | 9 T FA HATSAL S T J o T F YT & FLIT A1 hIoq)

(a) 18:35

(b)16:35

(c)18:25

(d)12:35

(e)19:35

Q50. Find the sum of total number of laptop and camera sold in month of February.
HEL ATE | 9 T A9 i AL At T AT AT T AT T4

(a) 254

(b) 234

(c) 224

(d) 214

(e) 244

Q51. A and B together can do 1—85 of a work in 5 days and B alone can do the remaining work in 7 days. Find in how many
days A alone can do the work?

ASﬁTBﬁW%@MWI—ZWsﬁ?ﬁﬁaﬁwﬁ%aﬁTBaﬁﬁﬁW?r&7ﬁ?ﬁﬁwwélaﬁaﬁﬁqﬁmaﬁﬁwaﬁaﬁ
EREREC IR (U AR C

(a) 15

(b) 25

(c) 12,5

(d) 20

(e) 50

Q52. A, B and C entered into a partnership business with investment of Rs. 4800, Rs. 2000 and Rs. 2800 respectively. At
the end of a year, the profit of B is Rs. 3500, then find the difference between profit share of A and C.

A, B ST C & FAL: 4800 T, 2000 T i< 2800 €0 F AT F T ATAGY § TH G F 4TI TF 99 & i §, B H AW
3500 93 §, AT A ST CF ATW ¥ REql & 1= sia< AT Hiora|

(a) 1400 Rs./ 1400 =97

(b) 4900 Rs./ 4900 &7%

(c) 3500 Rs./ 3500 &7%

(d) 700 Rs./ 700 =9

(e) 1500 Rs./ 1500 =9
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Q53. A man invested Rs. 4000 on simple interest at certain rate of interest for some years. If rate of interest is two
times of the time for man invested and he received Rs. 2880 as interest, then find the rate of interest.

T FRE T FF qut & oy A s I & 9rener s 9% 4000 ' wT e @ afy s i o sate g Fa e e
Y | IEAT g S S8 AT & &9 H 2880 94 WTH U &, AT AT I & ATT HITT

(a) 20%

(b) 15%

(c) 9%

(d) 6%

(e) 12%

Q54. 90 liters mixture contains juice and water in the ratio of 5 : 4 respectively. If 36 liters mixture taken out and same
quantity of water added in the remaining mixture, then find ratio of initial quantity of water to quantity of water in
resulting mixture.

90 e faror # A SR AT FAM: 5:4 F ATATA | g1 TR 36 FArex Frsror R Srar & i< o Frsyor & qwm wvam & areh f=mar
STTAT &, A AT T STAS7e AT i aRorrt ffesror & qret &t 91 7 Sara J1g fifera)

(@)2:5

(by1:1

(c)2:3

(d)3:5

(e)1:2

Directions (55-59): The line graph given below shows total number of cities and villages in four different states. Read
the data carefully and answer the questions.

= T 19T @ S AT ST -ST TSAT | g S ITEL Al T AT IATAT &1 ATl LAY T2 ST & IAL AT

400

300 N

200 li/ne.\“x | -

_"'lll...“--‘-_
100 —
_"‘lll...‘--.-“_-
0
P 0 R 3

=g=Cities / TG == Villages /70

Q55. If total villages in X are 20% more than total cities in P and total cities in X are 60% more than total cities in R,
then find total cities and villages in X.

i X/ T Ma, P H T g0 T 20% 7T § 3 X § T A8, RH T M50 & 60% SITEF g, T X F FT gL 3 MG F74 i orq
(a) 400

(b) 420

(c) 480

(d) 560

(e) 600
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Q56. Total cities in S are what percent less than total villages in P and S together.

S # F Qg P &l S | A=< o1 Wia & b wiasa #7 §2
(@) 75%

(b) 35%

(c) 37.5%

(d) 30%

(e) 45%

Q57. Find the average number of cities and villages in Q.
Q ¥ ST ST AT it Shraa HEAT AT FfSrw)

(a) 150

(b) 120

(c) 180

(d) 200

(e) 240

Q58. Find the ratio of total villages in R to total cities in R and S together.
R ¥ e T4 &7 R 3T S H e T g0 & ST9ma A1q Fiforg

(a)8:15

(b)5:12

(c)7:16

(d)5:13

(e)5:16

Q59. Find the total number of villages in P and Q together.
P 3R Q & AT ITiaT it A T&AT T AT

(a) 500

(b) 550

(c) 450

(d) 400

(e) 600

Q60. The total cost price of 8 pens and 12 bottles together is Rs. 440. Find at what price 10 pens and 15 bottles should

be sell to receive a profit of 20%.

THATT 8 U ST 12 FIqwii T Fet 67 oI 440 TI g T TSI o 20% HT T TTH HLA & 11 10 G 3T 15 Tt (66 A 9

9T T ATRYE?

(a) 720 Rs./ 720 =9
(b) 520 Rs./ 520 =97
(c) 600 Rs./ 600 &7T
(d) 660 Rs./ 660 =97
(e) 550 Rs./ 550 ¥72r

h
Q61. The radius of a circle is 7 cm and the perimeter of a square having side of (x+5) cm is Ht of the circumference

of the circle. Find the area of another square whose side is x cm.

Q‘cﬁﬁ?raﬁrﬁwﬂﬁﬂ’r%sﬁr(ms)ﬁﬁwmﬁ@ﬁww,ﬁﬁvﬁﬁwigl@%ﬁm@ﬁwmsﬁﬁqﬁwﬁ

ST x Y él

(a) 64 cm?/64 T2
(b) 16 cm?/16 THT?
(c) 25 cm?/25 FHT?
(d) 36 cm?/36 THT?
(e) 9 cm? 9 T2
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Q62. A bike running at speed of 42 km/hr for 8 hours and with a speed of 32 km/hr for two hours. Find average speed
of the bike.

T 915 8 He ah 42 et /sier it =t & ofix & 5 7 32 fowefy /s fr s & 5ot 31 s Y s =t st RS
(a) 30 km/hr/30 et /==t
(b) 36 km/hr/36 fafi /==t
(c) 40 km/hr/40 Tt /=T
(d) 48 km/hr/48 faft /=T
(€) 50 km/hr/50 Tt /==t

Q63. Average of present age of A, B and C is 15 years. If sum of present age of A and C is 27 years, then find the present
age of B.

A, B 3T C T FIHT oI &7 3 15 a9 g1 I A 37 C T T S F7T A0 27 I §, 7 B it aq91 g A1q hiforg)
(a) 16 years/16 T
(b) 24 years/24 T
(c) 20 years/20
(d) 18 years/18 T
(e) 12 years/12 T

Q64. Out of 68 people some are athlete, singer and cricketer. The ratio of athlete to cricketer is 2 : 9. If number of
singer are eight more than the number of cricketer, then find the number of cricketer.

68 ARM & & T TIAIE, THF X fohohe< €| YAl I fhahe T FT SAqUTa 2:9 {1 T T it §&AT, Fohahel it €1 & 15 ATF 8,
Y fheper Y g sma fifsrm

(a) 26

(b) 6

(c)27

(d) 24

(e) 20

Q65. A train is running at speed of 45 km/hr crosses a bridge in 36 seconds. If the ratio of length of train to the bridge
is 1:3, then find the length (in meters) of the bridge.

T o 45 Tl /=er i T § T9d Y TF I &l 36 e # TR DLl gl A< o S T i @aTs Bl ST 1:3 g, T [A i w1
(e ®) s AT

(a) 112.5

(b) 3125

(c)125.5

(d) 337.5

(e) 450

Q66. For post A, total people applied are 50% more than total people applied for post B. Number of girls applied for
both posts are same. If for post A, 70% boys applied, then find the percentage of girls applied for post B.

T A F T, AT FA a1 T AT, 9K B F ForT A& F37 are T AT 6t g7 A 50% ST g1 A1 9= & g sraed s
T ATt it T&aT TH 81 T 73 A T T 70% S+ 3 sreeT 3T 8, O 99 B F T sraes F3 aTet At # yaad s
Hifm

(a) 20%

(b) 30%

(c) 50%

(d) 45%

(e) 35%
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Q67. The ratio of speed of stream to speed of boat in still water is 2 : 5.The boat covers 70 km in 5 hours in
downstream. If boat take ‘T’ hours to cover 30 km in upstream, then find ‘T’?

T T AT 3 ST I A AT ¥ AT T AT 2: 5 81 A ORI F A7 5w & 70 T g aw s aRkaawraas
A7 30 At fr g aa s § 'T' A S, I 'T' 7 71 19 Hiforw)

(a) 2

(b) 3

(c) 4

(d)5

(e)6

Directions (68-80): What will come in the place of questions (?) mark in following questions.

FRmfere vt § wrfeg (7) % s o srgE?

Q68. »*324—:%—: 57 =7

(a) 2
(b) 1
(c)9
(d) 4
(e)6

Q69_535—15 +60+2="
(a) 750
(b) 270
(c) 700
(d) 100
(e) 737

Q70. 25% of 280 — 24% of 50 =?

280 ohT 25% — 50 <hT 24% =7
(a) 58
(b) 51
(c) 68
(d) 78
(e) 50

Q71. 376 — 60 ><§=?2

(a) 17
(b) 15
(c) 16
(d) 19
(e)11

Q72. (2% + 82) = 50% of 192
(27 + 8%) = 192 &I 50%

(a) 4

(b) 2

(91
(d)3

(e)5
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Q73.150 x 39 + 3 —950 =7
(a) 500

(b) 100

(c) 1000

(d) 800

(e) 600

Q74. (36 X 8) — (440 = 8) =7
(a) 221
(b) 252
(c) 233
(d) 278
(e) 215

Q75. (17 + 103)% of 45 — (8)> =4 x 7 =70
45T (17 +103)% — (8)° =4 x? =70

(a) 35
(b) 15
(c) 30
(d) 27
(e) 20

Q76.(4000 = 250) x3+1 =??
(a)7
(b)8
(99
(d)2
(e)3

Q77. 20 % of 350 + ? % of 200 = 110

3501 20% + 2001 ? % = 110

(a) 20
(b) 25
(c) 18
(d) 15
(e) 24

Q78. (2)* =200 x ? = (6)* +100
(a) 54
(b) 52
(c) 56
(d) 64
(e) 72

Q79. 31.5+35x12—-8="7
(a) 60

(b) 90

(c) 50

(d) 100

(e) 80
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49 5
—_ —
Q80. ;% 48 =

(a) 18
(b)8

(c)16
(d)12
(e) 14

S1. Ans.(d)
Sol.

S2. Ans.(e)
Sol.

F E A G D C H B
1 1 1 I 1 1 1 1 | 1

S3. Ans.(e)
Sol.

F E A G D C H B
1 1 1 1 1 1 1 1 | 1

S4. Ans.(d)
Sol.

F E A G D C H B
i 1 1 I 1 I 1 | 1 |1

S5. Ans.(b)
Sol.

F E A G D C H B
i 1 1 1 1 1 1 1 1 1

S6. Ans.(e)
S7. Ans.(c)
S8. Ans.(b)
S9. Ans.(b)

$10. Ans.(a)
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S$11. Ans.(b)

$12. Ans.(a)

$13. Ans.(c)

S$14. Ans.(d)

$15. Ans.(c)
Sol.

Boxes
T
E
Q
B
W
g

$16. Ans.(c)
Sol.

Boxes
T
E

Q
B

W
5

$17. Ans.(a)
Sol.

Boxes
T
E

Q
B

W
5

$18. Ans.(b)
Sol.

Boxes
T
R
Q
B
W
S

18
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$19. Ans.(e)
Sol.
Boxes

T

R

Q

B

W

5

$20. Ans.(e)
Sol.
A(-)=D(#)

B(-)=E(+)=C()
F(-)=G
G is either son or daughter of C.
S$21. Ans.(c)

Sol.
A(-)=D(+)

B(-]==E(+)=C(-)

F(-)m=G

Except D, all are female members.

$22. Ans.(e)

$23. Ans.(a)
Sol.

Designations Persons

Senior v
executive

Executive

S0

HR

Product head

5T

w103 | S

Admin

S24. Ans.(b)
Sol.

Designations Persons

Senior v
executive

Executive

S0

HR

Product head

ST

o= |c|e

Admin
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$25. Ans.(c)
Sol.

Designations Persons
Senior v
executive
Executive
S0
HR
Product head
ST
Admin

N E R el e [l g =

$26. Ans.(d)
Sol.

Designations Persons
Senior v
executive
Executive
S0
HR
Product head
ST
Admin

L (F o= |S

S$27. Ans.(e)
Sol.

Designations Persons
Senior v
executive
Executive
S0
HR
Product head
ST
Admin

A E R T R [l g v

$28. Ans.(d)
Sol

N n

REPLACED

$29. Ans.(e)
Sol.
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$30. Ans.(d)
Sol.

Flavour

$31. Ans.(c)

Sol. Logic- Second letter is 2nd succeeding of first letter and third letter is fifth succeeding of 2nd letter.

$32. Ans.(d)
Sol.

C

E,\'H T
D&

Jra |

1

_éﬂ

<+
E Hq F
$33. Ans.(c)
Sol.
G C

E\ls 1\
D&

by

E

S34. Ans.(d)
Sol.

- G
—F
D &=

Jr.

|
S

21 I adda247.com/defence

www.sscadda.com

www.bankersadda.com

www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

$35. Ans.(b)

Sol.

B ;L C
o | s |
D —1>4

b
E ‘PII" f\ F
$36. Ans.(a)
Sol.
B ;L C
b | |
D& —1>A

E,‘;I J" \P

$37. Ans.(e)
$38. Ans.(d)
$39. Ans.(c)
$40. Ans.(a)

S$41. Ans.(d)

Sol.

Pattern of series -
24+9=33

33+ 0.25=33.25
33.25+9=4225
42,25+ 0,25 =425

42.5+9=51.5
S$42. Ans.(d)
Sol.
Pattern of series -
4 16, 34, 58
+12 +18 +24 +30
+6 +6 +6

+6

A

BANK
MAHAPACK
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Exams
88, 7=124
+36

¥
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$43. Ans.(c)
Sol.

Pattern of series -

163, 150, 134, 112, 81, 7=38
-13 -16 -22 -31 -43
-3 -6 -9 -12
S$44. Ans.(d)
Sol.
Pattern of series -
6x1—1=5
Lbx2—-2=8
8x3—-3=21

21 Xx4—-4=280
80 x5—5=395

$45. Ans.(b)
Sol.

Pattern of series -
11+17 =28

28+ 19 =47

47+ 23 =70

70+ 29=99

99 + 31 =130

$46. Ans.(d)
Sol.

Total camera sold in January and laptops sold in March = 128 + 132 = 260

Total mobiles sold in January and March = 156 + 144 = 300

Required percentage =§ % 100 = 8b6.66 * 87%

S$47. Ans.(b)
Sol.

Total number of laptops and mobiles sold by R in February = 100 x Too + 120 x —

=140 + 150
=290

$48. Ans.(e)
Sol. Required difference = (132+144+180) - (128+124) = 204

$49. Ans.(a)
Sol. Required ratio = 144 : (120+160) = 18: 35

$50. Ans.(c)
Sol. Required sum =100 + 124 = 224

140 125
100
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S$51. Ans.(b)
Sol.

- 8 7
Remaining work=1—— = —
15 15

So, B alone can do %th of work = 7 days
B alone can do the whole work = % % 7 =15 davys

Both together can do the whole work = % ® 5= % days

Total work = 75 unit
E = Sunit/day
Efficiency of A= 8 -5 = 3 unit/hour

Required days = ? = 25 days

Efficiency of B =

$52. Ans.(c)
Sol.

Ratio of profit share of A, B and C=4800 x 12: 2000 x 12: 2800 x 12
=12:5:7

Given, 5 unit = 3500

1 unit = 700 Rs.

So, required difference = (12 -7) X 700=5 x 700 = 3500 Rs.

$53. Ans.(e)
Sol.

Let time for man invested =x
So, rate of interest = 2x

ATQ, 4000X zfﬂ": = 2880
x2 =36
XxX=6

So, required interestrate= 2 X 6 = 12%

S$54. Ans.(c)
Sol.

Initial quantity of juice =90 X 2= 50 liters

So, initial quantity of water = 90 — 50 = 40 liters

Quantity of water in resulting mixture = 40 - 36 X %—i— 36 = 60 liters
Requiredratio=40:60=2:3

$55. Ans.(c)

Sol.
Required answer = 200 X 2% 150 x 22 = 480
100 100

$56. Ans.(c)
Sol.
Total villages in Pand S =325 + 75 = 400

200-250 « 100 = 37.5%
400

Required percentage =
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S$57. Ans.(d)

Sol.
Required average = w =200

$58. Ans.(e)
Sol. Required ratio = 125 : (150+250)=5:16

$59. Ans.(a)
Sol. Required sum =325 + 175 =500

$60. Ans.(d)
Sol.
Let cost price of each pen = x Rs.

And cost price of bottle = y Rs.
So,8x+ 12y = 440

Cost price of 10 pens and 15 bottles = 8x x E + 12y % E = 440 x E
10x + 15y = 550
Required selling price = 550 x % = 660 Rs.

S61. Ans.(b)
Sol.

circumference of the circle = 2 x % KT =44
ATQ, 4x + 20 = 44 X f—l

4x =16

x=4

Required area = 16 cm?

$62. Ans.(c)

Sol. . .

Required average = AExBE e — 40 lkkm/hr
(8+2)

$63. Ans.(d)

Sol.

Required answer = 15 % 3 — 27 = 18 years

S64. Ans.(c)
Sol.
let athlete are 2x and cricketer are 9x

S0,2x+9x+9x+ 85=68
20x =60

x=3

Required number = 9x = 27

S65. Ans.(d)
Sol.

Let the length of train and bridge of be x and 3x respectively.
ATQ,
45 % i — x+3x
18 36
x =1125
So, length of the bridge =112.5 ¥ 3 = 337.5 meters
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$66. Ans.(d)

Sol.

let total people applied for post B =x

Total people applied for post A=x + % ¥ x = 1.5x

Total boys applied for post A = % ® 1.5x = 1.05x

Total girls applied for post A = 1.5x — 1.05x = 0.45x = total girls applied for post B
Required % = 2457 100 = 459

E4

$67. Ans.(d)
Sol.

Let the speed of the boat in still water = 5s km/hr
So, speed of stream = 5x X % = 25 km/hr

ATQ, (55+25) ==

s =2 km/hr

Required time (T) = ¥ _ a0

Ss—21= - 3=

$68. Ans.(b)
Sol.

18x£xi:?
[ 57
=1

$69. Ans.(c)

Sol.
?7=ph85-15+ 30
=700

$70. Ans.(a)
Sol.

2 %280 — = x50="7?
100 100
7=70-12

7= 58

S$71. Ans.(d)
Sol.

376 -15 =72
72=361
=19

S$72. Ans.(e)
Sol.

27+ 64 =96
27=32
7=5
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$73. Ans.(c)

Sol.

15039 +3—-950="7
1950 -950=7

?=1000

S$74. Ans.(c)
Sol.
(36 x8) — (440 - 8) =7

288 — 220 =7
8

7= 288 — 55
?7=1233

$75. Ans.(b)

Sol.

224564 = 4x7 —70
100
54-64+70=4X?

?7=15

$76. Ans.(a)

Sol.

(4000 + 250) =3+ 1=72
72 =49

=7

S$77. Ans.(a)
Sol.

2% %350+ — x 200 =110
100 100

=20

§$78. Ans.(a)
Sol.
B _ 21&

—_— 7 —_

200 100
7= 754

$79. Ans.(d)
Sol.

108 — 8 =7
7=100

$80. Ans.(e)
Sol.

Y xag=17
12

196 = 72
?7=14
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